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QUESTION 1

HP Unified Wired-Wireless controllers support wireless Intrusion Detection System (IDS)/intrusion prevention system
(IPS) features. An HP AP radio is configured to participate in this solution in hybrid mode. Which functions can the
hybrid mode radio fulfill? 

A. Can support wireless clients and scan wireless traffic. 

B. It can support wireless clients, scan wireless traffic, and implement countermeasures 

C. It can implement countermeasures and scan wireless traffic. 

D. It can scan wireless traffic and wired traffic. 

Correct Answer: C 

 

 

QUESTION 2

Table of acronyms 

Refer to the exhibit. 

Latest HP0-Y51 Dumps | HP0-Y51 PDF Dumps | HP0-Y51 Study Guide                                2 / 5

https://www.passapply.com/hp0-y51.html
https://www.passapply.com/hp0-y51.html
https://www.passapply.com/hp0-y51.html


https://www.passapply.com/hp0-y51.html
2024 Latest passapply HP0-Y51 PDF and VCE dumps Download

An administrator is setting up an MPLS and L2VPN virtual circuit (VC) between customer Site 1 and Site 2. The
administrator is creating a global cross-connect group, which uses LDP signaling, on PE-1. Which two elements are
required to do this? 

A. An AC connection (specifies a service instance on g1/0/1) and a peer (PE-2) 

B. A peer (PE-2) and a VPN instance (associated with g1/0/1) 

C. A peer (PE-2) and a VLAN ID (access VLAN or. g1/0/1) 

D. An AC connection (specifies a service instance on g1/0/1) and a VPN instance (associated with g1/0/1) 

Correct Answer: CD 

 

 

QUESTION 3

Table of Acronyms Refer to the exhibit. 
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An administrator wants to establish a remote LDP session between PE-1 (loopback IP address 10.0 0.1) and PE-2
(loopback IP address; 10.0.0.2). What is required to do this? 

A. Both PE-1 and PE-2 have a VPN instance that is defined with the same route distinguisher (RD) 

B. Both PE-1 and PE-2 advertise the same label for their loopback IP address 

C. Both PE-1 and PE-2 use ordered mode for LDP. 

D. Both PE-1 and PE-2 advertise their loopback IP address with OSPF and with LDP. 

Correct Answer: D 

 

 

QUESTION 4

A company has an HP BYOD solution with these requirements: 

Employees can connect their own devices to an Employees SSID, which enforces Wi-Fi Protected Access 2 (WPA2)
with 802.1X. 

User Access Manager (UAM) is the RADIUS server for 802.1X authentication, and it enforces EAP-TLS. 

The employees will first connect to an open SSID, access a portal page, and download the proper certificates for
completing 802.1X authentication. 

To meet these requirements, an administrator needs to deploy the correct certificate templates on UAM. What
determine deploy? 

A. Whether the company uses Active Directory (AD) or Open LDAP 

B. Type of endpoint devices and the device operating systems (OS) 

C. Government regulations with which the company must comply 

D. Level of security that the company requires 

Correct Answer: B 
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QUESTION 5

A Company has APs that are deployed relatively close together. These APs are controlled by an HP Unified Wired-
Wireless controller. Which setting helps to prevent the APs from interfering with each other while also letting the APs
extend their coverage area if one of the AP fails? 

A. Channel reuse 

B. Dynamic frequency selection (DFS) 

C. Transmit power control (TPC) 

D. Fair scheduling 

Correct Answer: A 

 

Latest HP0-Y51 Dumps HP0-Y51 PDF Dumps HP0-Y51 Study Guide

Powered by TCPDF (www.tcpdf.org)

Latest HP0-Y51 Dumps | HP0-Y51 PDF Dumps | HP0-Y51 Study Guide                                5 / 5

https://www.passapply.com/hp0-y51.html
https://www.passapply.com/hp0-y51.html
https://www.passapply.com/hp0-y51.html
http://www.tcpdf.org
https://www.passapply.com/hp0-y51.html
https://www.passapply.com/hp0-y51.html
https://www.passapply.com/hp0-y51.html

